
 

 

SOLVE THE FOLLOWING EQUATION 2 

 

1.                                             2. 

   

 

 

 

 

 

 

 

3.                                                                                                          4.                                                              
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7.                       8.  

 

 

 

 

 

 

 

 

 

SUCHI BANSAL 

 

 

5A + A = 90 
 

2D + 3D + 60= 70 
 

2A = 40+A 
 

10 = H - 7 

𝐊

𝟔
 - 23= 344 

B + 20= 2B 

 

9D + 2 = 74 

 

542 = 2466 – 8N 


